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TNPSC GROUP I, II & IIA PRELIM 

 

CLEAR, TRANSPARENT, INDIVIDUALIZE ORIENTATION 

MENTAL ABILITY – COURSE CONTENT 
 

NUMBER SYSTEM & NUMBER SERIES 
 

GROUP II / IIA = 25 QUESTIONS 

 
UNIT-X: APTITUDE AND MENTAL ABILITY 

i. Simplification – Percentage - Highest Common Factor (HCF) - Lowest 
Common Multiple (LCM).  
 

ii. Ratio and Proportion. 
 

iii. Simple interest - Compound interest - Area - Volume – Time and 
Work. 

 
iv. Logical Reasoning - Puzzles - Dice - Visual Reasoning – Alpha 

numeric Reasoning – Number Series. 
 
myF X – jpwdwpTk; kdf;fzf;F Ez;zwpTk;  

i. RUf;Fjy; kPg;ngW nghJf; fhuzp (HCF) – tpOf;fhL – kPr;rpW nghJ 
klq;F (LCM) 
 

ii. tpfpjk; kw;Wk; tpfpjhrhuk; 
 

iii. jdptl;b> $l;Ltl;b – gug;G – nfhs;ssT – fhyk; kw;Wk; Ntiy 
 

iv. jUf;ff; fhuztpay; - Gjph;fs; - gfil – fhl;rpf; fhuztpay; - vz; 
vOj;Jf; fhuztpay; - vz; thpir 
 

 



  

2 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 
 

TNPSC ORIGINAL QUESTION  
NUMBER SYSTEM & NUMBER SERIES 

 
TNPSC GROUP I PRELIMINARY EXAM 03.01.2021 

 
1. Find the missing number:  

3, 12, 27, 48, 75, 108, __________ 
a. 147 b. 162 c. 183  d. 192   e. Answer not known  
tpLgl;l vz;izf; fhz;f:  
3, 12, 27, 48, 75, 108, __________ 
a. 147 b. 162 c. 183  d. 192   e. tpil njhpatpy;iy  

 
2. In the given number pattern find the next term. 

21 321 4321
, , ,

33 444 5555
__________ 

a. 7531

6666
  b. 1234

5555
  c. 4321

2222
 d. 54321

66666
 e. Answer not known  

vd;w mikg;gpy; mLj;j vz;izf; fhz;f.  
21 321 4321

, , ,
33 444 5555

__________ 

a. 7531

6666
  b. 1234

5555
  c. 4321

2222
 d. 54321

66666
 e. tpil njhpatpy;iy  

 
ASSISTANT AGRICULTURAL OFFICER (17.04.2021) 

 
3. On a palm tree of height 32 cubit, a chameleon tried to reach the top of the 

tree. If it climbed one hand span on it but slipped four fingers on one day. 
How many days will it take to reach the top of the tree 
a. 96 days  b. 69 days  c. 94 days  d. 64 days 
e. Answer not known 
32 Kok; cila gidkuj;jpy;> gr;Nrhe;jp xd;W ku cr;rpia mila 
Kay;fpwJ. xU ehisf;F xU rhz; Vwp ehY tpuy; fPNo ,wq;FfpwJ vdpy; 
ku cr;rpia mila gr;Nrhe;jp vj;jid ehs;fis vLj;Jf;nfhs;Sk;? 
a. 96 ehs;fs;  b. 69 ehs;fs; c. 94 ehs;fs; d. 64 ehs;fs;   
e. tpil njhpatpy;iy 
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AGRICULTURE & HORTICULTURE (18.04.2021) 
 

4. A competitive exam paper has 100 questions for which 1 mark will be 

awarded for each correct answer and 
1

2
 mark will be deducted for every 

wrong answer, 
1

4
mark will be deducted for non- answering. Find the total 

mark scored by a candidate who answered 88 questions of which 61 are 
correct.  
a. 61 b. 44.5 c. 44.25  d. 54  e. Answer not known 
100 tpdhf;fs; nfhz;l xU Nghl;bj; Njh;tpy; rhpahd tpilaspf;Fk; 

xt;nthU tpdhtpw;Fk; 1 kjpg;ngz; toq;fg;gLfpwJ. jtwhd tpilf;F 
1

2  

kjpg;ngz; fopf;fg;gLfpwJ. NkYk; tpilaspf;fhj Nfs;tpf;F 
1

4  
kjpg;ngz; 

fopf;fg;gLfpwJ. xU Njh;th; 88 tpdhf;fSf;F tpilaspf;fpwhh;. mtw;Ws; 61 
tpdhf;fSf;F rhpahd tpilaspj;jpUf;fpwhh; vdpy; mth; ngWk; kjpg;ngz; 
vt;tsT?  
a. 61 b. 44.5 c. 44.25  d. 54   e. tpil njhpatpy;iy  

 
5. The highest number which divides the product of any three consecutive 

even natural number is 
a. 2  b. 4  c. 8  d. 16  e. Answer not known 
mLj;jLj;j %d;W ,ul;il ,ay; vz;fspd; ngUf;fiy tFf;Fk; kpfg;nghpa 
vz;  
a. 2  b. 4  c. 8  d. 16  e. tpil njhpatpy;iy  

 
6. 2, 4, 12, 48, 240, ……... 

a. 960  b. 1440 c. 1080 d. 1920 e. Answer not known 
2, 4, 12, 48, 240, ……... 
a. 960  b. 1440 c. 1080 d. 1920 e. tpil njhpatpy;iy  

 
 

 


